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Questions 110 10 carry 1 mark each. Questions 11 1o 15 cany 2 marks each. For each

gueg

oiis

tion, four options are Given. One of thewn is the correct answer. alake your choice

{1,2, 3 0r4) Shade the oval (1, 2, 3ord) on the Optical Answer Sheet.

p

o

(20 marks)

What is the missing number in the biank?

24 858 = 20 060 + 4 000 + +50+8
@} 80

(%2 800

% 8000

( 80 000

Evaluate (02 - 68 +4) - 15X 3

Q 20
%) 39

1Y
<
43 180

What is ihe average of all the even numbers frorm 1 to 107

D s
5]
@ 15

Janet poured some water into a beaker.
She then 2dded 4 identical marbles into it
Find the volume of 1 marble, (1ml = 1em®)

| i soges ”:—_i

- 100} — — — — 100mt

25 ¢’

(2 80 cm’®
100 ecm®

1) 180 cm’

Page 10f23 {(Goonto the nexipagel
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A printer took 3 hours to print 270 copies

The same piinter printed 150 copies in t, ie niext 2 hours.
Find the average number of copies the printer printed in 1 hour.
Q) 86
hY ﬁﬂ
170
4) 226
The time shown below is 8.30 a.m. The larger angie forined b by the hour and
minute hands is betweéen
T T
Sy 124N
/10 2”

~ b
(4, 0°and SO°
(2 807 and 180°
180° and 270°

%;%3; 270° and 38@°

Lily has 60 stamps. Meiiing has 24 more stamps than Lily.
The ratie-of the number of stamps that Lily has to the number ot stamps that-
Meilling has is .

6T |
~N N
O NN O

Joanne reads an average of 25 pages of a book in 1. day
How many pages wilt she read in 2 weeks?

50

175

7 250
350 20

Page 2 023 (Go on to the next page)
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©

11.

12.

V')

A machine can fill 450 botlles of soft drinks in 5 minutes.
How many botlles of soft diinks can itfil in 3 minutes?

{1 c0
180

(€5
270
4 360

There were 15 girls and 25 boys in a club.
i 10 more girls joined the club, wial percentage of the children in the club are
girls? o

(h 20%
) 37.5%
{3) 50%

(49 52.5%

Janice has $48. Hillary has $16 more than Janice.
Devi has twice as much money as Hillary.
How much money do they have allogethe

@ $144
25 3180
{31 3208

Y $24

r?

The figure below is a square mads up of four parts, P, Q, Rand S.

R and S are squares and each is % of the figure.

b v s o e e

Which of the following two parts will add np to % of the figure?

B PandQ

Pand S

(7 QandR

(4{)\ Rand S
Fage 30f 23 (Go on to the next page)
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13 The table shows the parking charges at a car park.
— —_— e e *]
Parking Charges )
For the first hour $2.00
- 1 1.5
For every additional 75 hour $1.50
s Lim parked her car from .00 am. to 11.30 a.m.
‘How much did she pay?
1 $ 3.5G
{ $ 5.50
@ $6.00
(@ £6.50
14 The garden below is sumounded by a 2-m footpath. Find the area of the garden.

32m
A

Garden

St

448 m
540 m
800 m
840 m

NONNN

Fo8E

3
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AR and CD are straight lines.
Which sngie is equat to £ a7

IR ) )

Bookiet &

Methodist Girls' School (Frimary), P5 SAZ2 2007

£ b
LG
Zd
iy

" Fage b5of23
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Methodist Girls' Schoot {Primary), F5 5A2Z 2667

Ciuestions 16 to 25 carry 1 maik each. Write your answeis in the spaces provided: For
uestions which reqguire unils, give your answers in the uniis stated. 10 marks
por |

16. What is seven miiiion and sixteen thousand writien in numerals?
Ans:
i7 Use the following digits to form the smallest four-digit whele number that is divisible
by & '

Ans:
18.  What s the fraction represented by A7
A
! £ 1 5 7 N i 1 ! ! L
¥ 1 I 4 1 1 ! 1 L i I
1 1
1 Z 1 2
Ans:
3

Page 6 of 23 - {Go on to the next page)
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Fi

19. The length of

Find the area of th

Ans: am?

20 if Zach turns 225 ° anti-clockwise, he will be fating the Park.
Where is he facing now?

—
Shopping. .
Malt ! / C!!nl(}
- =
i Park l
li Schoot Bus stop
1
Post |
Office |
' Ans: o
3
Page 7 of 23 "{Go on to the next page)
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21 The pattern in the box shows part of 2 less aicon :
Extend ihe tessellation by drawing twg mors un nit shapes in the space provided in the
e

A,

22, In the space below, draw triangte ABG inwhich £ ABCis 1 10°.

!
&

‘0
’1)
FD

3of 23 {Go on to the next page)
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1 e

23, Divide 7.212 by 1%

Ans:
L 8 .
24.  Three boys shared 7 of a pizza.
What fraction of the pizza did each boy get?
Ans:
25.  The figure below.is riot drawn to scale.
£ x s three times £ v.
Find £ x.
X oy
2N 7Y
Ans: °
ko
Page 8 0of 23 {Go on {o the next page}
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(uestions }3‘3 i 35 carry 2 marks cach. Sh oW
qUPS‘x?Gﬂ and wri

your working clearlyin the space betow each
1t
Give YOUT answers

e your RNSwers | in the spaces provided. For gquestions which require units,
s in the units stated.

(20 marks)

e ———

]
&

Mrs Lim has some sweets for her class.
If she gives sach pupil 3 sweels, she will have 5 axira swee:s.

If she gives 5 sweels 10 gach pupil, she wili need 45 more sweels.
How many pupils are there in Mrs Lim's class?

Ans:
27 Mary is 12 years old and her mother is 48 years old this year.

How many years tater will Mary's mother be 3 times as old as she?

Ans 7 years

{Go on io the nexi page }
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of a pumber is 48,

7 )
What s 8 of the number?

P

Ans:

1
29. Atap can fill of a tank inn 6 minutes.

How long will it take to fill 3 similar tanks?

Ans:

min

3G ABCis-an equilaterat tiangte and-AC = AD. Find 2 DEC.

D

Page 11 0f23
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he number of Malay books to the number of Chinese books in a hbrary is

31. Theraticoftd
104
The ratic of the number of Chinese books 1o the number of English books is 2: 5.
English books than Malay

ooks are there altogether if there are 270 more

Anst

3% \What is the number in the shaded box?

1.05
|
)
Ans:
33. After a 10% disgaunt, the seling price of a watch was 3117.

““ What would besthe selling price ¥ the discount had been 20% instead?

=114

Ans: $

Lo

Page 12 of 23 {Go cn to the nexi page)



Booilst 87

Rlethodist Girls’' School (Primary}, 75 842 2007

The graph below shows the number of lunch boxes sold in a Japanese fast food chopina
X

Siudy the graph carefully and answer ¢ uestions 34 and 35,

500
- A,/A\\V_-g,ﬁ - —

500 - y: \
w yd
5 400 — /
3 - 7/ =
g 300 /. -
> —
© 200
Loy
=

100 —

Sun Mon Tues Wed  Thurs Fi Sat
34. On which day was the number of lunch boxes sold twice as many as the number sold

on Sunday?

Ans:

35.  What would the total collection for Saturday be if each jynch box was sold at $6.507

Ans: 3

by

Page 13 0f 23 {Go on to the next page}
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For questions 38 io 48, show your working clearly in the space provided for each
VP =T .

Guestion and write your answers in the spaces provices.
The number of marks avaiiable is shown in the brackets { 1at the end of oach question
or part-question. (50 maiks}

1 1 -
38. Lina spent = of her money to buy a dress and 3 of the remaining amount {o
buy a bag. She theg_t;éd $53 left. How much money did she have at first?

Ans: 13}

37. The ratio of Tom’s money to Paui’'s money was 4 : 3 at first.
After Tom spent $140, the ratio of Tem's money 10 Paul's money became 27 b.

How much money did Tom have at firs?

wY Ans: @

wa

Paga 14 of 23 {Go on to the next ;ﬁage)
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3a. Siti spilted some coffee ort har resulte slip, Har dverage mark for the three
subjects is 86 .
What can be the largest difference between her English and Mathematics
2

[
T K

Results Skip

English
Mathematics
Science

Ans: [3]

39. A car travels 36 km on 3 litres of petrol. The cast of petrol is $1.60 per litre.
Hew much does a motorist have to pay for petroi if he wants to iravel 240 km?

Ans: 131

- . Page 15 of 23 (Go on to the next page)
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e Methodist Girls’ Scheol {Pumiaiyi, PS5, SAZ 2307
40, Lisa put 19 oranges in bag A, 24 cranges in bag B, 15 oranges in bag © and
80 oranges in bag D. Cindy added an equal number of apples into each cf the
bags. As a result, bag D confained the same number of fruits as the tolal number
of fruitin bags A, B and C.
How many apples did Cindy putinto each bag?
Ans: 13
41, ARGDHis a rectangle.
Find the area of the shaded part
W
D < —
T om
LA
" Ans; ; 4]
Page 16 of 23 {Go on to the next page)
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et

42 Atank measuring 3¢ cm by 20 cm by 27 cm contained 9.675 litres of waler.
When 9 cubes of the same size were placed inio the tarik, the water level rose {0

% the height of the tank (as shown in figure A).

Find the tength of each cube. -

Ans. _ 41 5D

wa

Page i7of 23 (Go on to the next page)
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The figure below is nof drawn o scale’
BGDE is a paralielogram. AB = B,
AED, BEF and DFG are straight fines.
Find 2 p andg £g.

88°

6\

Ans: A p=

(2}

Zq=

1<

Page 18 of 23
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\ 44)
N L

In the diagram below, not drawn o scale,
PQRS is a square and R8T is an equilateral triangle.
Find £/ QUR.

P = Q

/
T
Ans: __ [4]
. EY

Page 19 of 23 {Go on o the next page)
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Jie Min paid 313,45 for some pencils and erasers.
Each pe ncil cost $0.65 and eac 1y eraser cost $0.40 less.
How many pleces of erasers Ui i she bu

v if there'were 11 more pencils than
pragers’?

Ans: 41

Page 20 of 23 {Go on to ihe next page)



48, The price of tickets to 2 concert is shown beiow.

Methodist CiFls' 2

g
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o)
Lo
iy &
ny

£
A

[»]
>

[220°

Flr

A group of 85 people paid a total of $1 355 to attend the concert.

How many children

g

attended the concert?

Page 21 of 22

Ans:

15

{Go on to the next page)
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Sandy had some sweels, She kept

She then gave the remaining sweets o Betly.

P
Bochiet 32

5 Schuoi (Primary), P5 SA2 2007

Mathodist Girl

4

of ihe sweets plus 7 swets.

1 _ ) . . .
Betty kept = of her sweels plus 8 sweels and gave ine rernainder to Pauline.
£

. 1 o
Pauline ate 7 of her share and found that she had 15 sweels teft.

{a) How many swoets did Pauline have?

(b} How many swests did Sandy have at first?

Page 72 of 23

{Go on to the next page)
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- Mathodist Giids” Schoof {Primary), 75 SA2 2007
Free ifts were being given cut at a departmenta! store.
10% of the gifts were claimed on Wednesday.

The number of gifts ciaimed on Thursday was 8 more » than the gifts claimed ¢n
Wednesday.

The nurnber of gifts claimed on Friday was 3 of those ctaumed sirSaturday.

5“45- of the gifts were claimed on Sunday.

if ‘*4 gifts were claimed on Saturday, how many free gifts were claimed in lotal?

Ans: {5l

7% End of Paper Ti?
Pigase check your work.

Page 2_3__,01_‘ ,2_3 B
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26.

28.
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»
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A Q7 Q8 Q9 - Qip
f_ 4 3 4 3 3 _
Qu Q12 Q13 014 Q15
4 2 4 1 2 ]

TO16000 17. 3095

9

;5 9, fdem?
shopning maill 21.

“mAR B 23, 0.601

2
P 25, 135°
25 pupils 27, 5years
84 29. 72 mins
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38.

40,

e

A 3%, 456 hooks
1.45 32 5104
Moaday 35 52437 .5¢
: : N K\S}
' : NN
1
556 —spent
3
2 units = 556
funits = 528 x O
= BG83
Tom : Faul Tem @ Paul
4 : 3 2 e
i 5 x 5 x 3 x 3
20 15 & : 18
20-units — O units = 14 uniis
14nnits = 5140
Yuntt =510
26 units = 314 x 24
= 5260
Total marks = 86 x 3 = 238

= 89 (English} + 77 (iaths)

258 — 92 = 165
If 165
= 8% —~ 72
i2
36 + 3 = 12k
1L = iZism
—z_iq x 51.60 832
12

Let A be the no. of ap
(19 + Ay + 24 +A) + (15 + Ay =80 + A
3A + 58 =80+ A
3A -~ A = 80 — 38

2A
A

22
i1

nleg

AR

Page 2 of 4



= 45 3 14

250em?

Ares of rect,

1 25 = 175em’

Il

14
Area of A —

14
Arcani B = 5 x 7 = 49%cm?
25
Area of O = Y x 4 = 5d¢w”
Aves of shaded part = 350 — (175 +49 + 5%em’
= 7&em?
2
— x 217 =18
3
Vel of water and eabes = 30=20x 18 = 10806
YVol. of cubes = 10808 — 9675 = 1125
Vol of L enbe = 1125 + 9 =125

5x 35x 5= 125
The length is Som

LP = 186° — 54° = 126°
Zp =126°

ZCDF = 88°

Jq = 360° — 85

(50 + 60)° = 15¢°
(180 — 150)° = 30°
368+ 2 = 15°
{30 - 15)° = 75°
The angle is 75°

Pencil = $0.65

Eraser = $0.25

$0.65 x 11 = §7.15
5(13.45 — 7.15) = 3$6.30
$(0.25 + 0.65) = $0.90
630 — 90 =7

There are 7 erasers.

Page 3 of' 4



471a.

47h.

48,

5

15 + 3=5
5x 4 =20
Pauline had 20 sweets

20 + 8 = 28
28 x 2 = 50
56 +7 = 63
63 x 2 =126

Sapdy had 126 sweets.

Wed = 16%
Thurs = 10% + &
. 2
Fri = = x 34 =36
3
Sat = 54
San = 1%
(160 — 10 — 10 — 16)% =
g8 = 6 + 36 + 54 = 9%
1% = {.5%

160% = 150
150 gifts were elaimed.

54%

Peged ot d



